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(a) Evaluate : i) 2(S+4n) (Tmm _,\’ Gt o o
=1

Schaa! 1‘793)

(ii) S (0.5

r=2

k)

In an arithmetic sequence, the sum of the first three terms is 54, and

the tenth term is 50.
Find : (i) The first term and the common difference,
(ii) The sum of the first 20 terms.

z. Alex aécepte@ a job that pays an initial salary of $28 000 per annum. After each
)I:ar_ 05 msest;\{;i; ;?;4 SVBI'HS Orecexve an increment of $950 until she reaches the
(1) What will her salary be after S years of service? @C“}i}oh c"
[~
(i1) How long will she have to work before she reaches her maximum salary? ! qqe/)
(iif)  Calculate her total earnings for the first 10 years of service.
3. For the sequence, 3,5,7,9,........ s (Cq_‘)hg, T e
find (a) the nth term; sl 1982 /
(b) the sum of the first 30 terms. (Leave your answer in index form.) ’
.

A 1
Find the sum of the multiples of 3 between 100 and 250. C'The Sets <=l > %S)

At a disaster refugee centre, there was originally 150 tonnes of supplies for distribution.

Thereafter 14 tonnes were flown in on the first day of the disaster , (S aulth
16 tonnes the next day . 18 tonnes the next dav and so on to continue. S\,d ~ey
(1) Find a formula for the total mass (T.a) of supplies available after n days of - 91,\
the disaster. Sel )
(i) However, on the first day of disaster 8 tonnes of supplies was distributed,11 tonnes on the (994 )

next day, 14 tonnes on the day after and so on to continue. Find a formula for the total mass
(T.d) of supplies distributed after n days.

(ii1) Using the resuits in parts (i) and (ii), or otherwise. find how many days
after the disaster, will the supplies run out ( ie. no supplies left) .

¥

b)

)

The third and seventh terms of an arithmetic series are 17 and 37
res%ectively. Find the first term and the common difference for this series.

_ (The St
The first thrt‘:e terms Qf .an grithmetic series ar;a 15, 13, 11. Show that the cat) 1Q '%:.)
sum of the first n terms is given by S, =16n—n®. Q?‘L
The first three terms of a geometric sequence are §, 4, 2.
If the last term of the sequenceis 1—;—8—, how many terms are there in the
sequence?

c\) A plant is observed over a period of time. lIts initial height is 30cm. It

grows Scm during the first week of observation. Each suceeding week the
growth is 80% of the previous week's growth. Assuming this pattern
continues, calculate the plant's ultimate height.
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oid =18 —0Q
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= (s
| —o-S .
= (o-.5)* D Th=atin-Nd
e-s Ts = 28000 + 4%9SO
Fo.s =4 zt500
b)p‘/\q Sy = 5% (TR ®o3s0
T =250 a+ (n-el = 40350

5n=-‘%_[2_q+Cn—hd]
Ss=%[2a+ 247
54 2 Ba 4 DA

a+d =18 —0O)

2%000 + (n~D). 4502 40350
450(n 1) = 12350
n—l="(3
n= [4
Maximum 30(;‘&'_
veached afier
14 years'.:

b) Sa= %[zﬂ-f—(n—l)o‘lj

Sso=22[6+ 2ax 2]
=|5x 6%
=960

® muwtiptes G 3 between
oo ond 280

24%D = |02

n=83-3%+/
B3x3 =249
e

=50
102,105,108, ... , 249
A/P a={02
d=3
n=>50
Sh= %_[aht_]
Svo = %’[loz +2va]
=28 X357
= $775
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atzd =17
o+ 6d =37

—®
B

Sub tract

ol =20
d=5
supst . ke @
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